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I(a] Function is READY and switched successfully I
CMDr
CMDE CMD&
gmn-dg;“ RESI modet) | ES
DAT Function is Function is switch
READY i

Function State function is readyy -":
funclion tums busy by CMD&moded )

b)) Function ie BUSY and cannotbe switchad |

! P
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CMDx
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Example of Switch Function flow

FETHEEDI 2 1, FHLNZK H CMD6 (modeO) SR EAT R A AT LT AE . 05 24 H A
FERATEZM), FAUSOZER BN L FHL 2450 RS 1) HAR D) e A .

WIRAL T busy R3S, EHLATLA T K CMD6 (model) JI#eThfe, 41 BBl (@) (). anRFEA
IIREAL T busy IRZS, FEHIAMIZ T K CMD6 (model)V)#eshE, #n B (b)Fin. i ER(c)
B, FENEREIRN 0 B1TH thel BREIMEIZRAS G, BTZRELRMHTE cvmDe
(model1)#HGH . VI E PR

Start switching
nclions

spec 1.0-1.01 Card versidl
numbef

spec 1.100rhigher

Get function state and
current consumption

| func<- don’t care |

func ; function satting

CMDé& I
mode=0.func

Get supporediunction
| func <~ funcx
Any switch 7 I func : Certain function setting
Y | CMD6
(mode=1.func)
| func <= funcx

I func: Certain function setting

| EHE SWIEC?EIH% I



AR

Card Condition

Support function = command system: For eC (0x1), access mode: High-Speed (0x1)

Current function = command system: For eC (0x1), access mode: Default (0x0)

Switch example: command system: For eC == Default, access mode: Default == High-Speed

Case (1) - Check function with no error LA
CMD6& argument = '0000 0000 1111 1111 1111 1111 0000 0001’
Read Data = [511:496] = '0000 0000 0100 0000" (=64mA)
[495:400] = 1000 0000 0000 0001' & 1000 0000 0000 0001' & 1000 0000 0000 0001' &
1000 0000 0000 0001" & "1000 0000 0000 0011 & "1000 0000 0000 0011
CMD6 argument = '0000 0000 1111 1000 1111 0010 0000 0001

[399:376] = '0000 0000 0000 0000 0000 0001

[375:368] = Data Structure Version

[367:272] = Busy Status of functions in group 1-6 o nfuence >

[271:0] = Reserved (All '0') <>
Read Data = [511:496] = '0000 0000 0000 0000" (means error)

[495:400] = '1000 0000 0000 001" & *1000 0000 0000 0001' & 1000 OO0 0000 0001" &

*1000 0000 0000 0001' & 1000 0000 0000 0011' & 1000 0000 0000 0011'
[399:376] = '0000 1111 0000 1111 0000 0001"

[375:368] = Data Structure Version
[367:272] = Busy Status of functions in group 1-6 @

[271:0] = Reserved (All '0')

ngh Speed

Case (2) - Check function with error

kA

Card Condition

Support function = command system: For eC (0Ox1), access mode: High-Speed (0x1)

Current function = command system: For eC (0Ox1), access mode: Default (0x0)

Switch example: command system: For eC => Default, access mode: Default => High-Speed

|
Case (3) - Switch function with no error v v
CMD6 argument = "1000 0000 1111 1111 1111 1111 0000 0001
Read Data = [511:496] = '0000 0000 0100 0000 (=64mA)
[495:400] = '1000 0000 0000 0001' & "1000 0000 0000 0001 & 1000 0000 0000 0001" &
1000 0000 0000 0001 & "1000 0000 0000 0011' & 1000 0000 0000 0011
[399:376] = '0000 0000 0000 0000 0000 0001

[375:368] = Data Structure Version

[367:272] = Busy Status of functions in group 1-6
[271:0] = Reserved (All '0")

o> (LoD

Case (4) - Switch function with error
CMD6 argument = "1000 0000 1111 1000 1111 0010 D000 D001’
Read Data = [511:496] = '0000 0000 0000 0000 (means error)
(495:400] = '1000 0000 Q000 0001' & "1000 0000 Q000 0001" & 1000 0000 0000 0001 &
1000 0000 0000 0001" & "1000 0000 0000 0011 & 1000 0000 0000 0011
[399:376] = '0000 1111 0000 1111 0001 0000’
ry

[375:368] = Data Structure Version
[367:272] = Busy Status of functions in group 1-6 @

[271:0] = Reserved (All '0")






